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Slope modulation

0.025 -
N
- T
. ° [0
. &
(o))
4 £
=
0 T T T 1
-0.005 0 0.005
0.025 -
N
7 =5
R - — ()
. &
(o))
i £
=
O T T T 1
-0.005 0 0.005
0.025 -
N
- T
00000000 00000000 (0]
: &
(o))
4 £
=
0 T T T 1
-0.005 0 0.005
0.025 -
N
- T
LA XXX XYY ] 000000 [0)
. &
(o))
4 £
=
O T T T 1
-0.005 0 0.005
Weight w
w
[)]
(%]
(@]
|

100

50 1

|
-

|
N

|
-

-05 0 05

—_

K

-05 0 05

—_

a
o o
K

-05 0 05

—_

(o))
o o
I 1 1

-1 -05 0 05 1
Signal x
0.05-|
\_/
0| T T T 1
-1 -05 0 05 1

Signal x

Costc

Costc

Costc

Costc

Intercept modulation
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Cost magnitude
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